(2)&(T2—-2)

(FRL304E)
3t E x BAEHELCE

= = YN T i IR I
s | pes | B A AR MR eulen|Ax|es hol S | e | s

% % T
£ H 74 110] A36 1.9 0.9 20.9 10.0 1.2 33 2.6 0.7 47| 168
I B 8 6.9 15|  A47 1.9 1.1 19.4 9.5 10.0 3.4 24 1.0 40| 144
TN 6.6 103| A37 2.1 1.4 28.6 135 15.5 8.2 6.8 1.4 39 1.31
ERmEm 7.7 85| A07 - - 24.6 135 113 23 23 - 4.4 147
i 6.4 84| A20 3.1 1.6 334 15.5 185 9.3 7.8 1.6 4.1 1.32
3w A5 BT 8.0 82| A02 - - 57.1 29.4 29.4 29.4 29.4 - 39[ 133
= Snfr 6.8 104| A36 - - 25.6 25.6 - 25.6 25.6 - 25 072
BT 6.9 124 A54 - - 14.3 14.3 - 14.3 14.3 - 37 111
AT 3.7 225 A189 - - - - - - - - 25| 085
J\EEET 47 17.3| A126 - - - - - - - - 3.2 1.05
=D1L 36 228| A19.1 - - 66.7 - 66.7 - - - 25 1.03
ES=1Es) 48 215 A16.7 - - - - - - - - 48| 143
S ET 6.3 125 A6.2 8.9 8.9 175 - 175 8.8 - 8.8 32| 147

<EHELEOEWBFHE>
H4-FET - 3R - B IR = 1 M DB 3108 1 BIRAD A O x 1,000
BREME=(1EHOEER—1EROETE) 1071 BEAEDAD X 1,000
EER(BARWER ATRER)=E(BR- ALK/ HE (HBE+EE) # x 1,000
AR CERGFERETCE REHFERECR)=ARECHEFER - BHFHFERETE).HEH x 1,000
EERATE TS R =T IR 22 LUk D SEEE S+ B EAST A R B T8 tH BE(HH A 3+ 0T 4R 78 2258 LA 1% D B 78 30 %K x 1,000
D4R 2 258 LAt D FE R = TR 22:8 ARG D SEEE SR HH B (B A4k + 3R IR 22:B LIBE D SEEESR) x 1,000

KEFIAOFH,
EERVEOHIERT, EEFBHELKIE.

<EHEHICHW:=-ADODHE>
£ : THR30F10A1 BRAEHE A O (RBEEHER)
BB R UHETH - FREI0FEI1081 BRAEHSTAD (BHEER)



